TRR2BHE AZBRE (i)

F-H-H M = 5| &%
H23.8.5 [BAE MR CGEHIOHVED) 18] 66,600
H23.12.16 [BEZ R CEHRIOHVED) 35| 127,100H
/NEF (L) 53| 193,700
H23.5.25 [HBHREV (BIESE ABLOE) 1 5,000
H23.6.6 [ REEW(TEEhHE ABLOEE) 1 5,000
H23.8.2 [HBHAHEV(BIESE ABOE) 1 5,000/
H23.8.25 [ AER (3 ~0iBegs ~f2fb) 1 5,550
H23.9.1 [HBHRHEV(BIESE ABROE) 1 5,000/
H23.9.22 [HBHREV (BIESE ABLOE) 1 5,000
H23.9.29 [HBHREV(BIESE ABLOE) 1 5,000/
H23.10.17 [B RV (BIESE ABLOE) 1 5,000/
H23.11.4 [ REW[HEEhHE ABLOEE) 1 3,500/
H23.11.13 [B RV (BIEEE ABEOE) 1 5,000/
H23.12.3 [BHRHEV (BIESE ABOE) 1 5,000
H23.12.3 [BHREV (BIEEE ABEOE) 1] 10,000
H24.2.20 [ REEW[HEEhHE ABLOBE) 1] 10,000
NEF (B RN 13| 74,050
H23.6.13 [EBEI (E A3 J1%) 1] 10,000
/NEF (BRI 1] 10,000
H23.8.12 [#)Z: HA LA 21|  44,687H
H23.11.18 [B (R (HTEZh 77 A D) 1 5,250
/NEEGEEEY) 22| 49,937H
&t 89| 327,687




